

10

$$\sum_{n=2}^{\infty} \frac{1}{n (\ln n)^2}$$

$$\int \frac{dx}{x (\ln x)^2}$$

$$u = \ln x$$

$$du = \frac{1}{x} dx$$

$$\int \frac{du}{u^2}$$

$$\int u^{-2} du$$

$$\int_{\ln 2}^{\infty} \frac{1}{u^2} du$$

converges to
 \sum series

(13) $\sum_{n=1}^{\infty} \frac{\ln n}{n^2}$ $\int x^{-2} \ln x dx$

$u = \ln x \quad dv = x^{-2} dx$

$du = \frac{1}{x} dx \quad v = -\frac{1}{x}$

$= -\frac{1}{x} \ln x - \int -\frac{1}{x} \cdot \frac{1}{x} dx$

$= -\frac{\ln x}{x} + \int x^{-2} dx \quad \text{implies } \frac{1}{1-n}$

$\lim_{n \rightarrow \infty} \left[-\frac{\ln x}{x} - \frac{1}{x} \right]_1^R = -\frac{\ln R}{R} - \frac{1}{R} - \left(\frac{\ln 1}{1} - \frac{1}{1} \right)$

\sum converges by integral test

9 $\sum_{n=1}^{\infty} n e^{-n^2}$

$$\int_0^{\infty} x e^{-x^2} dx$$

$$u = -x^2$$

$$du = -2x dx$$

$$-\frac{1}{2} du = x dx$$

$$-\frac{1}{2} \int_{-1}^{-\infty} e^u du$$

$$\frac{1}{2} \int_{-\infty}^{-1} e^u du$$

$$\lim_{R \rightarrow -\infty} \left. \frac{1}{2} e^u \right|_R^{-1}$$

$$= \frac{1}{2} e^{-1} - \frac{1}{2} e^R$$

converges

\sum converges

$$g'(x) = f'(x^2 - 1) (2x)$$
$$g'(2) = f'(3) (4)$$
$$f'(3) = \frac{1^3 (5)}{16} = \frac{5}{16} (4) = \frac{20}{16} = \frac{5}{4}$$

(B)

(21) $\int_1^7 \sqrt{1 + f'(x)^2} dx$

$$2 \left(\sqrt{1 + 2^2} + \sqrt{1 + 1^2} + \sqrt{1 + 0^2} \right)$$
$$2 (\sqrt{5} + \sqrt{2} + 1)$$

(D)